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Quiz 2, September 1, 2022

Find the equation of the plane in 3-space which contains the points (1,1,−1), (2,0,2), and
(0,−2,1). Please make sure that all three points satisfy your equation.
Answer: Let P = (1,1,−1), Q = (2,0,2), and R = (0,−2,1). Observe that
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The plane through (1,1,−1) perpendicular to 7
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7(x−1)−5(y−1)−4(z+1) = 0

7x−5y−4z = 6

Check The point P = (1,1,−1) satisfies the proposed answer because 7−5+4 = 6.
The point Q = (2,0,2) satisfies the proposed answer because 14−8 = 6.
The point R = (0,−2,1) satisfies the proposed answer because 10−4 = 6.


